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Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
- Answer ALL questions.

Choose the correct answer :

1. The Bender’s partitioning algorithm is a popular
method to solve ——————— problems.
(a) Zer-one (b) Integer
(¢) Pure integer (d) MILP

2. Agraph G is a collection of
(a) nodes (b) vertices
(¢) arcs (d (a)and (c)

The sum of the degrees of the vertices of a graph is

(@ 2 ®) 4
(¢) anevennumber (d) anodd number
Optimization problems that are modelled and

represented in the form of a —— — are
called network problems.

(a) Directed graph (b) Bi-partite graph
(¢) Weighted graph (d) Connected graph:

The word NP stands for ———— polynomial.
(a) Deterministic (b) Monic
(c) Non-deterministic (d) Irreducible.

TSPis——— problem.
(a) an NP complete (b) assignment problem
() ashortestpath (d) a network.

!

The branch and bound algorithm was developed by

(a) Little

(b) Small

(¢) Land and Doig (1960)
(d) Golden.
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10.

11.

FCFS stands for

(a) Fast Come First Served
{(b) First Come First Served
(¢) First Come Fast Served
(d) Fast Come Fast Served.

An arrival chooses not to join the queue even if
" there is space to join. This phenomenon is called

(a) Balking (b)
(c) Jockeying (d)

Reneging
Jockeying.

For infinite queue length situations, it is
necessary that

A A

(@ =—=>1 ' b)) —<1
U
@ £<1 @ i=u.

PART B — (5 x 5 = 25 marks)
Answer ALL questions, choosing either (a) or (b).

(a) Describe the assignment problem.

Or
(b) Explain the types of integér programming
problems.
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13.

14.

16.

(a)

(b)
(a)

(b)

(a)

®)

@

Explain the Kruskal's algorithm.

Or
Explain the Dijkstra’s algorithm.

Write about NP complete problems.

Or

'Explain the branch and bound algorithm to

find optimal solution to TSP.

Derive an expression L, =L, +p for a
M/ M1/ /e model.

Or

Derive an expression 4, =(1- py)A for a
M/M|/C/N /s« model.

Let @' be the optimal order quantity in the
simple ECQ model (constant rate of demand,
instantaneous supply, no shortages). Let the
actual order quantity be @ given by @ =k@",
k>0.

(i) Derive an expression for the ratio of the

actual total cost/unit time to the
optimal cost.
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